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1 Ф4култет 74 8=DоD<4т8Gк8 =4ук8 8 ко<п8јутеDEко 8=6е=еDEтво, !копје, 
 епу5л8к4 !евеD=4 �4кедо=8ј4 

2 ОО' �&8Eо<8D �8лоHевEк8�, !копје,  епу5л8к4 !евеD=4 �4кедо=8ј4 
3 ОО' �Коле �еделковEк8�, !копје,  епу5л8к4 !евеD=4 �4кедо=8ј4  

�пEтD4кт. К4ко Dе7улт4т =4 7ло54л=4т4 7дD46Eт6е=4 кD874 о5D47о6=8те 8=Eт8туF88 6о 7оле< 
дел  пDе<8=44  од  кл4E8G=4  =4Eт464  ко=  =4Eт464  =4  д4леG8=4,  Eо  646=8  пDед8768F8  6о 
Eекојд=е6=ото D45отење ‐ 8=теD4кF8ј4 8 ко<у=8к4F8ј4. &еоD8Eк8от дел =4 тDудот 6клуGу64 
деD8=8D4ње,  6Dед=у64ње,  кл4E8D8к4F88  8  Fел8  =4  8=теD4кF88те.   47л8ку64<е  по6еќе 
DоD<8 =4 8=теD4кF8ј4: уGе=8к‐уGе=8к, уGе=8к‐=4Eт46=8к 8 уGе=8к‐EодD68=4 (�уD 8 КеDEл8); 
=4Eт46=8к‐=4Eт46=8к,  =4Eт46=8к‐уGе=8к  8  =4Eт46=8к‐EодD68=4  (�=деDEо=  8  �4D8Eо=)  8 
уGе=8к‐8=теDDејE (%8л<4=). �=теD4кF8ј4т4 5е7 D47л8к4, E8=EDо=4 8л8 4E8=EDо=4, 7468E8 од 
<=о7у D4ктоD8: теE=оло78ј4, 6Dе<е, 5Dој =4 луѓе, лок4F8ј4, Eтепе=8 8.т.=. �D4H4њ4т4 ко8 Eе 
пој46у644т Eе <=о7у5Dој=8: �Кој4 е D47л8к4т4 <еѓу D47л8G=8 т8по68 8=теD4кF88?�, �Кој 68д, 
Eо  колк46  8=те=78тет  =4  8=теD4кF8ј4  8  =86=о  ко<58=8D4ње,  е  поеDект86е=  6о  D47л8G=8 
DоD<8  =4  о5D47о64=8е?�,  �K4ко  8=теD4кF88те  д4  Eе  Eт8<ул8D4Gк8  74  уGе=8F8те  8 
=4Eт46=8F8те?� , �К4ко =о68те теE=оло788 д4 7о подо5D4т =86=8от к64л8тет?... �=теD4кF8ј4т4 
тDе54  д4  е  доEт4п=4,  Eоод6ет=4  8  Dеле64=т=4.  О5D47о6=8те  8=Eт8туF88  тDе54  д4 
оD74=878D44т  куDEе68  74  =4јEоод6ете=  т8п  =4  8=теD4кF8ј4  74  D47л8G=8  =4Eт46=8  74д4G8, 
D47л8G=8  пDед<ет=8  о5л4Eт8  74  уGе=8F8те  6о  D47л8G=8  D478  =4  D476ој.                                   
�D4кт8G=8от дел =4 тDудот пDетEт46у64 8EтD46у64ње <еѓу =4Eт46=8F8 74 8=теD4кF8ј4т4 6о 
<4кедо=Eк8те уG8л8Hт4 8 пD8к47 =4 <улт8<ед8Eк8 EоDт6еDEк8 DеHе=8ј4 Eо пDепоD4к8 6о 
Dу=кF8ј4 =4 пD468л=4 пD8<е=4 =4 8=теD4кF8ј4т4 8 под87=у64ње =4 =еј78=ото =86о. 

КлуG=8 75оDов8: 8=теD4кF8ј4, ко<у=8к4F8ј4, о5D47о64=8е =4 д4леG8=4.   

�О��� 

�=теD4кF8ј4т4  е  оE=о64  74  еDект86=о  уGење  8  6о  кл4E8G=ото  од=оE=о 
тD4д8F8о=4л=ото  о5D47о64=8е  8  6о  о5D47о64=8ето  =4  д4леG8=4.  &44  е  ко<плекEе=  8 
по6еќеEлое= ко=Fепт. �=о7у 46тоD8 78 =47л4Eу644т 8=теD4кF8ј4т4 8 ко<у=8к4F8ј4т4 к4ко 
Fе=тD4л=8  к4D4ктеD8Eт8к8  74  Eекој4  DоD<4  =4  д4леG8=Eко  о5D47о64=8е,  дуD8  8  к4ко 
=еопEод=8 6еHт8=8 =4 =4Eт46=8кот 8 уGе=8кот. �46=о е уGе=8F8те д4 58д4т оEпоEо5е=8 
д4  ко<у=8F8D44т  <еѓуEе5=о,  Eо  DеEуDE8те  74  =4Eт464  8  Eо  E6о8те  =4Eт46=8F8. 
�=теD4кF8ј4т4  к4ко  646е=  D4ктоD  6о  о5D47о64=8ето  тDе54  д4  е  доEт4п=4,  Eоод6ет=4  8 
Dеле64=т=4.  Од  <=о7уте  пD4H4њ4  о6де  ќе  78  D477лед4<е  8  ќе  Eе  74дD68<е  =4: 
деD8=8D4ње 8 6Dед=у64ње =4 8=теD4кF8ј4т4; D47л8G=8те кл4E8D8к4F88 =4 8=теD4кF88, 
теоDетEк8те  оE=о68,  7468E=оEт4  =4  8=теD4кF8ј4т4  од  D47л8G=8  D4ктоD8,  пDо<оF8ј4  =4 
8=теD4кт86=оEт 8т=.  
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�еD8=8F88 
Од 5Dој=8те деD8=8F88 ќе =46еде<е =еколку: �=теD4кF8ј4т4  Eе  E<ет4 74:  т86ок, 

кD8т8Gе=  8  кDе4т86е=  D477о6оD  6о  у<от  =4  уGе=8кот,  Hто  е  потт8к=4т  8  поддD64=  од 
окол8=4т4 74 уGење (�4Dк6уд 8 Џо=Eтоу= (1994) [2]); Д6о=4EоG=4 ко<у=8к4F8ј4 <еѓу д6е 
8л8 по6еќе л8F4 Eо Fел д4 Eе 746DH4т Fел8те 74 уGење (74д4G8) 8 74 7D4дење =4 потDе5=8те 
EоF8ј4л=8 од=оE8 (�еD6е (2002) [5]);  47л8G=8 68до68 =4 D47<е=4 по<еѓу D47л8G=8 4ктеD8 
8 пDед<ет8 по6D74=8 Eо =4Eт464 8 уGење (�=деDEо=(2003) [6]);  47<е=4 =4 8=DоD<4F88 
по<еѓу 4ктеD8те 6о окол8=4 74 уGење од д4леG8=4, 6клуG8тел=о уGе=8F8, =4Eт46=8F8 8 
теE=8Gк8  пеDEо=4л  (�еD8  �олд  (2009)  [2]);   еF8пDоG=4  ко<у=8к4F8ј4  по<еѓу  д6е  (8л8 
по6еќе)  EтD4=8 Hто  6клуGу64  по6D4т=8 8=DоD<4F888,  ко<е=т4D8 8  пDедло78 8  Eл8G=о. 
�ејтE  (2003)  пDедло68л  12  �7л4т=8  пD468л4�  74  употDе54  =4  теE=оло78ј4т4  6о 
о5D47о64=8ето.  !8<о=Eо=,  !<4кл8=о  8  �64Gек  (2015),  E<ет44т  дек4  �Eед<ото  �7л4т=о 
пD468ло� =4 �ејтE, дек4 �8=теD4кF8ј4т4 е од EуHт8=Eко 7=4Gење�, е до5Dо пD8D4те=о од 
о5л4Eт4 8 е Fе=тD4ле= еле<е=т 6о по6еќето деD8=8F88 74 о5D47о64=8ето =4 д4леG8=4� 
[8]. 

�8дов8 8=теD4кF88 во о5D47ов4=8ето =4 д4леG8=4 

�=о7у  теоDет8G4D8  8  =4уG=8F8  8EтD46у64ле  D47л8G=8  68до68  =4  8=теD4кF8ј4. 
�уD (1989) пD6п4т 78 д8Eкут8D4л тD8те =4јGеEт8 DоD<8 =4 8=теD4кF8ј4 6о о5D47о64=8ето 
=4 д4леG8=4; 8=теD4кF88 уGе=8к‐=4Eт46=8к, уGе=8к‐уGе=8к 8 уGе=8к‐EодD68=4 [1, 6, 10]. 

%8л<4=, �8л8E 8 �у=464Dде=4 8 EоD45от=8F8те 6о 1994 7од8=4 74 пD6 п4т 7о 6о6еле 
теD<8=от  8=теD4кF8ј4  уGе=8к‐8=теDDејE  [1,  2].  !поDед  �=деDEо=  (2002),  8=теD4кF8ј4т4 
<еѓу  уGе=8кот  8  8=теDDејEот  =е  е  ед8=Eт6е=4  8л8  поEе5=4 DоD<4 =4  8=теD4кF8ј4,  туку 
ко<по=е=т4 =4 Eекој4 од дDу78те DоD<8 =4 8=теD4кF8ј4 Eеко74H ко74 т8е Eе пој46у644т 6о 
ко=текEт  =4  о5D47о64=8е  =4  д4леG8=4  [1].  �=деDEо=  8  �4D8Eо=  (1998)  7о  пDоH8D8ле 
ко=Fептот =4 �уD Eо  тD8те DоD<8 =4 8=теD4кF8ј4  Eо дод464ње =4 тD8 дDу78 DоD<8 =4 
8=теD4кF8ј4: =4Eт46=8к‐=4Eт46=8к, =4Eт46=8к‐EодD68=4 8 EодD68=4‐EодD68=4 [1,5].  

!поDед !4то= (2000), 74<е=8Gк4т4 8=теD4кF8ј4 Eе EлуGу64 ко74 уGе=8кот 4кт86=о 
78  =45људу64  д6ете  EтD4=8  =4  д8Dект=4т4  8=теD4кF8ј4  по<еѓу  дDу78те  Eу5јект8 
(EоуGе=8F8те 8 =4Eт46=8кот)  5е7 д8Dект=о д4  уGеEт6у64 6о д8EкуE88те.  &ој откD8л дек4 
о=8е ко8 ко<у=8F8D4ле =4 тој =4G8=, G8т4ле, Fе=еле 8 уGеле од 8=теD4кF88те =4 дDу78те, 
[1, 5]. �уE=8к 8 �4DкуE, 8=Eп8D8D4=8 од тD8те =4јGеEт8 DоD<8 (д8<е=788) =4 8=теD4кF8ј4 
=4 �уD, 6о6еле Gет6Dт4 д8<е=78ј4 ‐ 8=теD4кF8ј4 Eо E8Eте<от, [10]. 

И=теD4кF8ј4 уGе=8к‐уGе=8к (<еѓууGе=8Gк4т4 8=теD4кF8ј4) 
          �о  о5D47о64=8ето  =4  д4леG8=4  о6ој  68д  =4  8=теD4кF8ј4  58л  потFе=ет  поD4д8 

о7D4=8Gе=4т4  доEт4п=оEт  =4  теE=оло78ј4т4  8  =4кло=етоEт4  =4  теоDет8G4D8те  =4 
о5D47о64=8ето  =4  д4леG8=4  ко=  8=д868ду4л=ото  уGење.  !о6Dе<е=8те 
ко=EтDукт868Eт8Gк8 теоDет8G4D8 78 8Eт4к=у644т пDед=оEт8те =4 о6ој 68д =4 8=теD4кF8ј4 
6о  8EтD46у64њето,  6о  D476864ње  =4  <8Eлењето  8  6о  Eтек=у64њето  =4  клуG=8 
ко<у=8к4F8Eк8 8 EоF8ј4л=8 6еHт8=8.  

И=теD4кF8ј4 уGе=8к‐=4Eт4в=8к 
           О6ој  68д  =4  8=теD4кF8ј4  е  поддD64=  од  D47л8G=8  DоD<4т8  ко8  6клуGу644т 

4E8=EDо=4 8  E8=EDо=4 ко<у=8к4F8ј4  Eо коD8Eтење =4 текEт,  4уд8о 8 68део <4теD8ј4л8. 
ЛеE=от8ј4т4  =4  ко<у=8к4F8ј4т4  <о6е  д4  пDед8768к4  опто64Dу64ње  =4  =4Eт46=8F8те 
(<о6е= о7Dо<е= 5Dој поD4к8 од EтD4=4 =4 уGе=8F8те 8 77оле<у64ње =4 оGеку64њ4т4 74 
5D78 од7о6оD8). �8дејќ8 о644 8=теD4кF8ј4 8<4 7оле<4 646=оEт 74 D476ој =4 6еHт8=8те к4ј 
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уGе=8F8те  74  к64л8тет=о  о5D47о64=8е,  74  д4  =е  пDед8768к4  отпоD  к4ј  =4Eт46=8F8те, 
=еопEод=о е д4 Eе оE<8Eл4т <еE4=87<8 74 =86=4 Eт8<ул4F8ј4. 

И=теD4кF8ј4 уGе=8к‐EодD68=4 
          К4ко 7л46=4т4 ко<по=е=т4 6о DоD<4л=ото о5D47о64=8е, покD4ј п4E86=8те DоD<8,  

т44  подD4758D4  8  6е658  6о  68Dтуел=8  л45оD4тоD88,  о=л4ј=  =4Eт464  8  D476ој  =4 
8=теD4кт86=4  EодD68=4  кој  Eе  пD8л47оду64  =4  од=еEу64њето  8  <о6=оEт8те  =4  Eекој 
уGе=8к. �о6е д4 6клуGу64 о=л4ј= 8=тел87е=те= E8Eте< 74 по<оH. �=теDDејEот тDе54 д4 е 
пD8л47одл86  74  =еколку  к4те7оD88  коD8E=8F8.  'Gе=8кот  <о6е  д4  коD8Eт8  по<оH  6о 
=46874F8ј4т4, д4 до5864 од7о6оD8 =4 поEт46е=8те пD4H4њ4 6о Dу=кF8ј4 =4 ед8=Eт6е=8от 
8=д868ду4л878D4=  п4т  пD8л47оде=  =4  уGе=8кот.  �46=4  пDед=оEт  Eе  по6D4т=8те 
8=DоD<4F88 =е E4<о 6о DоD<4л=ото 6одење =4 уGењето, туку 8 6о 5л47о6Dе<е=4т4 по<оH 
пD8 уGењето пDеку уп4тEт64 74 DеH464ње 74д4G8 8 дDу78 4л4тк8 74 поддDHк4.  

И=теD4кF8ј4 =4Eт4в=8к‐=4Eт4в=8к 
          О6ој 68д =4 8=теD4кF88 д464 <о6=оEт 74 EтDуG=о уEо6DHу64ње 8 поддDHк4 =4 

=4Eт46=8F8те  8  EтDуG=8те  коле78у<8.  !тDуG=ото  уEо6DHу64ње  8  ко=т8=у8D4=ото 
Fело686от=о  о5D47о64=8е  Eе  од  7оле<4  646=оEт  74  =4Eт46=8F8те.  �ло6у64њ4т4  =4 
о5D47о6=8те 6л4Eт8 6о о644 о5л4Eт 6о 8д=8=4 <о6е по6еќекD4т=о д4 8< Eе 6D4т8 пDеку 
77оле<е= к64л8тет 8 кDед858л8тет =4 клуG=8те 4ктеD8 6о о5D47о64=8ето 8 о5D47о6=8те 
8=Eт8туF88.  

И=теD4кF8ј4 =4Eт4в=8к‐EодD68=4 
          О644 8=теD4кF8ј4 подD4758D4 Eо7д464ње =4 =4Eт46=8 EодD68=8 8 4кт86=оEт8 =4 

уGење  од  EтD4=4  =4  =4Eт46=8F8те,  ко8  тDе54  ко=т8=у8D4=о  д4  78  Eлед4т,  46уD8D44т  8 
=4д7D4ду644т EодD68=8те 8 4кт86=оEт8те ко8 78 пл4=8D44т 8 78 оD74=878D44т 74 =86=8те 
уGе=8F8  (од=оE=о  д4  78  у=4пDеду644т  E6о8те  7=4ењ4  8  6еHт8=8,  74  д4  58д4т  EтDуG=о, 
<етодEк8 8 пE8EолоHк8 под7от6е=8 74 876еду64њето =4 =4Eт464т4).  

И=теD4кF8ј4 уGе=8к‐уGе=8к (<еѓууGе=8Gк4т4 8=теD4кF8ј4) 
           О6ој 68д =4 8=теD4кF8ј4 EеуHте е 6о поGет=4 D474. �одD4758D4 Dу=кF8о=8D4ње 

=4  т.=.  ко<пјутеDEк8  47е=т8,  од=оE=о  68Eоко  D4768е=8  8=DоD<4т8Gк8  8  ко<у=8к4F8Eк8 
4л4тк8, опDе<е=8 Eо EоD8Eт8F8D4= EоDт6еD 74 Eледење 8 =4 к64л8тет=8 уGе5=8 EодD68=8 
6о �е5 пDоEтD4=Eт6ото ко8 Eе 6о теE=4 6DEк4 Eо д878т4л=8те уGе5=8 EодD68=8 под7от6е=8 
од EтD4=4 =4 =4Eт46=8кот. �D64 D474 (т=. D474 =4 поEDедEт6о) е ко=т8=у8D4=о 46то<4тEко 
8=DоD<8D4ње  =4  =4Eт46=8кот  74  E8те  =о6ооткD8е=8  т4к68  8=DоD<4F88  8  EодD68=8. 
�4пDед=4т4 D474 подD4758D4 пDо7D4<4т4 E4<4т4 д4 откD8е т4к68 EодD68=8 8 8=DоD<4F88 
8 5е7 поEDедEт6о =4 =4Eт46=8кот д4 78 67D4д8 6о =е7о68те д878т4л=8 уGе5=8 EодD68=8 (74 
кој4 <=о7у<8=4 E<ет44т дек4 е утоп8ј4, од=оE=о =е6о7<о6=4 <8E8ј4, =о =е тDе54 д4 7о 
потFе=8<е  ко=т8=у8D4=8от  D476ој  =4  =о68те  теE=оло788  ко8  8  до  Eе74  поEе7=44  до 
=едоEт87=4т8 68E8=8).   

%8=EDо=8 8 4E8=EDо=8 8=теD4кF88 

�=теD4кF8ј4т4 <о6е д4 58де E8=EDо=4 8л8 4E8=EDо=4 � д4 Eе од6864 6о 8Eто 6Dе<е 8л8 6о 
D47л8G=о 6Dе<е. 

!8=EDо=4 8=теD4кF8ј4 

!8=EDо=ото  уGење  Eе  од6864  ко74  уGе=8F8те  8  =4Eт46=8кот  Eе  о=л4ј=  6о  8Eто 
6Dе<е 8 <о64т д4 ко<у=8F8D44т 6о Dе4л=о 6Dе<е. !8=EDо=8G=оEт4 6о о5D47о64=8ето =4 
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�5оD=8к =4 тDудо68 од &Dет4т4 <еѓу=4Dод=4 ко=DеDе=F8ј4 74 о5D47о64=8ето по <4те<4т8к4, D878к4 8 EDод=8 
=4ук8, 

!копје 6 ‐ 8 <4ј 2022 
 

 

д4леG8=4  Eе  поEт87=у64  пDеку  ко<пјутеDEк8  ко<у=8к4F8Eк8  4л4тк8.  �4Eт46=8те 
теE=оло788 74 уGење =4 д4леG8=4, п4к, Eе D47л8ку644т 6о 68дот 8 о5е<от =4 4л4тк8те Hто 
78  коD8Eт4т,  4  Eо  то4  8  6о  =86=4т4  EпоEо5=оEт  д4  Eе  пD8EпоEо54т  =4  8=теD4кF8ј4т4  6о 
Dе4л=о  6Dе<е.  �Dед=оEт4  =4  E8=EDо=ото  уGење  Eе  74E=о64  =4  D4ктот  Hто  по6D4т=8те 
8=DоD<4F88 од оEт4=4т8те 4ктеD8 6о окол8=4т4 74 уGење (=4Eт46=8кот 8 дDу78те уGе=8F8) 
Eе <о<е=т4л=8 8 E8<улт4=8. �=теD4кF8ј4т4 л8Fе‐6‐л8Fе по E6ој4т4 пD8Dод4 е E8=EDо=4 8 
о6о7<о6у64 ед=4 од =4ј646=8те ко<по=е=т8 6о о5D47о64=8ето ‐ по6D4т=8те 8=DоD<4F88, 
[2, 3]. 

АE8=EDо=4 8=теD4кF8ј4 

�E8=EDо=4т4  8=теD4кF8ј4  Eе  од6864  пDеку  <Dе64  6о  D47л8G=8  6Dе<8њ4,  т.е. 
уGе=8кот =е ко<у=8F8D4 6о Dе4л=о 6Dе<е Eо =4Eт46=8кот 8/8л8 Eо дDу78 уGе=8F8. О64 е 
7л46=4т4 DоD<4 =4 8=теD4кF8ј4 6о ко<у=8к4F88те поEDеду64=8 од ко<пјутеD. 'еEто, о644 
DоD<4 =4 8=теD4кF8ј4 е теE=о по6D74=4 Eо уGењето =4 д4леG8=4 58дејќ8 о5е75еду64 <=о7у 
пD8до586к8 74 уGе=8кот 8 окол8=4т4 74 уGење пDеку �=теD=ет [2].  

!лед=4т4  т45ел4  пD8к46у64  =еко8  од  пDед=оEт8те  8  о7D4=8Gу64њ4т4  к4ј 
4E8=EDо=8те 8 E8=EDо=8те 8=теD4кF88, Eоод6ет=о. 

 
&���Л� 1. �Dед=оEт8 8 о7D4=8Gу64њ4 =4 4E8=EDо=4 8 E8=EDо=4 8=теD4кF8ј4 [2, 3] 

�E8=EDо=4 8=теD4кF8ј4  !8=EDо=4 8=теD4кF8ј4 

�Dед=оEт8:    DлекE858л=оEт  (<о6е  д4  Eе 
пD8Eт4п8  6о  6Dе<е  8  <еEто  по  875оD);  Eе 
6клопу64  6о  8=д868ду4л=8те  D4EпоDед8  =4 
уGе=8F8те;  78  оED45Dу64  ED4<е6л868те 
уGе=8F8 д4 уGеEт6у644т Eо Hто 7D4д8 Gу6Eт6о 
=4  74ед=8F4;  о6о7<о6у64  по7оле<о 
8=д868ду4л=о 6=8<4=8е 74 уGе=8F8те; текот 
=4  д8EкуE88те <о6е  д4  Eе  пDе7е<е,  Eо Hто 
коD8E=8кот  7о  ко=тDол8D4  те<пото  =4 
пDоFеEот =4 уGење. 

�Dед=оEт8: �87уел=8те 8 76уG=8те 7=4F8 Eе 
од  по<оH;  по6D4т=8те  8=DоD<4F88  =4 
ко<е=т4D8  8л8  пD4H4њ4  Eе  =епоEDед=8 
(<о<е=т4л=8);  по7оле<8от  дел  од  луѓето 
8<44т 8EкуEт6о Eо о6ој 68д =4 8=теD4кF8ј4, 
п4 74то4 е по77од=о 8 попD8Dод=о уGеEт6ото 
6о 8Eт4т4. 
 

О7D4=8Gу64њ4:  =едоEт4ток  =4  687уел=8  8 
76уG=8  7=4F8;  6еHт8=8те  =4  G8т4ње  8 
п8Hу64ње  6л8ј44т  =4  еDект86=оEт4  =4 
ко<у=8к4F8ј4т4;  одло6е=8  по6D4т=8 
8=DоD<4F88 =4 ко<е=т4D8те 8 пD4H4њ4т4 

 

О7D4=8Gу64њ4:  =е7468E=оEт  =4  6Dе<ето  74 
отк46у64ње; =еко8 уGе=8F8 <о64т д4 58д4т 
пD8Eут=8,  =о  п4E86=8;  потеHко  е  д4  Eе 
упD46у64  Eо  пDоFеE8те  =4  8=теD4кF8ј4  к4ј 
по7оле<8те 7Dуп8 уGе=8F8. 

 

Ф4ктоD8 Hто вл8ј44т =4 8=теD4кF8ј4т4 

�8дејќ8 о5D47о64=8ето  (6клуGу64јќ8 7о 8 о5D47о64=8ето =4 д4леG8=4) е E8Eте<,  
Eекој од =е7о68те еле<е=т8 е 6о 8=теD4кF8ј4 Eо дDу78 еле<е=т8. �=теD4кF8ј4т4, =еј78=8от 
68д,  к64=т8тет,  к64л8тет,  6Dе<е,  8  т=.,  =е <о6е д4 Eе од6о8 од =4Eт46=4т4 D8ло7оD8ј4, 
875оDот =4 теE=оло788 8 <ед8у<8 8 дDу78 D4ктоD8 [9]. 

�л46=4т4  Eл45оEт  =4  <=о7у  пDо7D4<8  74  о5D47о64=8е  =4  д4леG8=4  е  =86=4т4 
поE6ете=оEт =4 одDеде= <ед8у< 74 ко<у=8к4F8ј4, 4 ко74 8<4 E4<о еде= <ед8у<, 6еDој4т=о 
е дек4 E4<о еде= 68д =4 8=теD4кF8ј4 до5Dо Dу=кF8о=8D4. �Dед8 д4 Eе 7=4е дек4 5е7 о7лед 
=4 <ед8у<8те ко8 Eе 875D4=8 74 д4 Eе олеE=8 8=теD4кF8ј4т4 =4Eт46=8к ‐уGе=8к 8 уGе=8к‐
уGе=8к, тDе54 д4 Eе пD87=4е дек4 о68е DоD<8 =4 поEDеду64=4 д8EкуE8ј4 =е тDе54 FелоE=о 
д4 7о 74<е=4т еле<е=тот =4 EDед58 6о 686о 6о куDEе68те [1, 9, 12]. 
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�5оD=8к =4 тDудо68 од &Dет4т4 <еѓу=4Dод=4 ко=DеDе=F8ј4 74 о5D47о64=8ето по <4те<4т8к4, D878к4 8 EDод=8 
=4ук8, 

!копје 6 ‐ 8 <4ј 2022 
 

 

  �уD 8 КеDEл8  (1996) оп8H4ле к4ко =4Eт46=8те теE=оло788 <о64т д4 6л8ј44т =4 
8=теD4кF8ј4т4.  !поDед =86: ��4ко коDеEпо=де=F8ј4т4 <о6е д4 д4де до5D4 8=теD4кF8ј4 
<еѓу уGе=8кот 8 EодD68=4т4 8 до5D4, 84ко 546=4, 8=теD4кF8ј4 уGе=8к‐=4Eт46=8к, т44 =е 
д464  8=теD4кF8ј4  уGе=8к‐уGе=8к.  �уд8о,  4уд8о  7D4D8Gк8  8  68део‐телеко=DеDе=F8Eк8 
7Dуп8  д4644т  одл8G=4  8=теD4кF8ј4  <еѓу  уGе=8F8те,  =о  =е  Eе  <=о7у  до5D8  74 
8=д868ду4л878D4=4  8=теD4кF8ј4  =4Eт46=8к‐уGе=8к  8  GеEто  Eе  7лоупотDе5у644т  74 
пDе7е=т4F88 =4 EодD68=4т4 од EтD4=4 =4 =4Eт46=8кот Hто <о6е подо5Dо д4 Eе =4пD468 Eо 
пеG4те=8  8л8  E=8<е=8  <ед8у<8.  �о  6Dе<ето  74Hтеде=о  од  пD46ење  пDе7е=т4F88  =4 
EодD68=8, телеко=DеDе=F8ј4т4 58 <о6ел4 д4 ј4 Eт8<ул8D4 8 олеE=8 8=теD4кF8ј4т4 <еѓу 
уGе=8F8те Hто до Eе74 5еHе теHко 8л8 =е6о7<о6=о д4 Eе поEт87=е 6о о5D47о64=8ето =4 
д4леG8=4�, [11]. 

  �Dе7 КеDEл8 (1995) пDедло68л л8Eт4 од оEу< пD4H4њ4 по6D74=8 Eо 8=теD4кF8ј4т4, 
G88  од7о6оD8  Eе  клуG=8  74  D476ој  =4  еDект86=о  оD74=878D4ње  =4  о5D47о64=8е  =4 
д4леG8=4.  О68е  пD4H4њ4  Eе  од=еEу644т  =4  еDектот  =4  74GеEте=оEт4  =4  8=теD4кF8ј4т4; 
т8пот =4  уGе=8F8,  пDед<етот 8 Fел8те =4  уGењето  74 ко8 8=теD4кF8ј4т4 е =4јкD8т8G=4; 
еDектот =4 8=теD4кF8ј4т4 6D7 74до6олEт6ото =4 уGе=8кот; 8 тDоHоF8, 6Dе<е=Eк8 54D4њ4 8 
дDу78 8<пл8к4F88 =4 о5е<от =4 D45от4. [1]. 

�Dед=оEт4 =4 8=теD4кF8ј4т4 во о5D47ов4=8е =4 д4леG8=4 

�лед4јќ8  7о  о5D47о64=8ето  =4  д4леG8=4  од  H8Dок4  пеDEпект864,  6одеGк8те 
теоDет8G4D8 од о5л4Eт4, 6клуGу64јќ8 78 %ол<5еD7, �еде<4еD 8 �уD 7о Eт4644т уGе=8кот 8 
=е7о64т4 8=теD4кF8ј4 Eо дDу78те 6о Fе=т4Dот =4 о5D47о6=8от пDоFеE [1].  

�=теD4кF8ј4т4 е ед=4 од =4јд8Eкут8D4=8те те<8 6о о5D47о64=8ето =4 д4леG8=4 
[9]. Дол7о 6Dе<е е деD8=8D4Gк4 8 кD8т8G=4 ко<по=е=т4 =4 о5D47о6=8от пDоFеE 8 ко=текEт 
(�=деDEо=, 2003),[6]. �4Eле (2007) E<ет4л дек4 8=теD4кF8ј4т4 е пD8<4D=4 ко<по=е=т4 =4 
Eекој4 еDект86=4 пDо7D4<4 74 о5D47о64=8е =4 д4леG8=4 [9]. 

�о<еѓу  22‐те  пD4кт8к8  8  пD8Eт4п8  од  6=8<4теле=  8  EеопD4те=  пDе7лед  =4 
8EтD46у64њето 74 теоD8ј4т4 8 пD4кт8к4т4 =4 о5D47о64=8ето =4 д4леG8=4, поддD64=8 од 
л8теD4туD4т4, 4 пDепо7=4е=8 од !8<о=Eо=, !<4кл8=о 8 �64Gек (2015) [9], ќе 78 87д6о8<е 
8‐<4т4 8 17‐т4т4: 8) �=теD4кF8ј4т4 6о о5D47о64=8ето =4 д4леG8=4 е 646=4  ‐ =4ј646=4 е 
<еѓууGе=8Gк4т4  8=теD4кF8ј4  8  8=теD4кF8ј4т4  уGе=8к‐EодD68=4,  4  пото4  Eлед4т 
8=теD4кF88те  уGе=8к‐=4Eт46=8к 8 =4Eт46=8к‐уGе=8к; 17) $Dек6е=F8ј4т4 8  к64л8тетот =4 
8=теD4кF8ј4т4 е клуGот 74 еDект86=оEт4 6о о5D47о64=8ето =4 д4леG8=4.  

ИEтD46ув4ње, Dе7улт4т8 8 пDепоD4к8 74 =4Eт4в=8F8те 

           �4 потDе58те =4 о6ој тDуд 5еHе EпDо6еде=о 8EтD46у64ње 6о 68д =4 4=кет4, 6о 
кој4 5е4 опD4те=8 138 =4Eт46=8F8 од пDед<ет=4 8 одделе=Eк4 =4Eт464 од по6еќе 7D4до68 
6о дD6464т4,  од  ко8 =4ј7оле< дел  (90%)  =4Eт46=8F8  Eо  764ње �=4Eт46=8к‐<е=тоD�. О64 
8EтD46у64ње 78 д4де Eлед=8те Dе7улт4т8: =4Eт46=8F8те делу<=о уEпе44 д4 ј4 6оEпоEт464т 
<еѓу=4Eт46=8Gк4т4  8=теD4кF8ј4  (62%  од  =86  ј4  пDеDеD8D44т  кл4E8G=4т4  =4EпDот8 
=4Eт464т4 =4 д4леG8=4), од =86  дуD8 70%   то4 7о E<ет44т 8 74 8=теD4кF8ј4т4 =4Eт46=8к‐
уGе=8к 8 68Eок пDоFе=т од 85% 74 <еѓууGе=8Gк4т4 8=теD4кF8ј4. (то Eе од=еEу64 п4к 74 
E8=EDо=4т4  =4EпDот8  4E8=EDо=4т4  =4Eт464,  68Eок  е  пDоFе=т  =4  =4Eт46=8F8  (62%)  ко8 
подед=4к6о леE=о ј4 6оEпоEт46у644т 8=теD4кF8ј4т4 Eо уGе=8F8те. 

         �еѓу  поте=F8D4=8те  пD8G8=8  74  =8Eк8от  Eтепе=  =4  6оEпоEт46у64ње  =4 
8=теD4кF8ј4  Eо  уGе=8F8те,  =4Eт46=8F8те  78  =46еду644т  Eлед=8те  пD8G8=8:  =едо6ол=о 
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�5оD=8к =4 тDудо68 од &Dет4т4 <еѓу=4Dод=4 ко=DеDе=F8ј4 74 о5D47о64=8ето по <4те<4т8к4, D878к4 8 EDод=8 
=4ук8, 

!копје 6 ‐ 8 <4ј 2022 
 

 

EпDо6еде=8  о5ук8  74  =4Eт464  =4  д4леG8=4  (67%)  8  делу<=о  7ото68те  по=уде=8  е‐
EодD68=8  6о текот =4 =4Eт464 =4 д4леG8=4 (70%), додек4 к4ко подед=4к6о 646=8 D4ктоD8 
ко8 <о6е д4 пD8до=еE4т 74 77оле<е=4 8=теD4кF8ј4 6о о5D47о64=8ето, 78 E<ет44т =о68те 
теE=оло788,  допол=8тел=4т4  под7ото6к4  =4  =4Eт46=8Gк8от  к4д4D,  допол=8тел=8те 
DеEуDE8 6о уG8л8Hт4т4 (60%). 

�отт8к=4т8  од  до58е=8те  Dе7улт4т8  74клуG86<е  дек4  =4Eт46=8F8те  6о 
�4кедо=8ј4,  E<ет44т  дек4  5Dојот  =4  EпDо6еде=8  о5ук8  74  D45от4  Eо  <улт8<ед8ј4л=8 
EодD68=8 74 D45от4 =4 д4леG8=4 е =едо6оле=, 6о о64 6Dе<е =4 �тDк4 Eо теE=оло78ј4т4�. 
�4то4  оE6е=  8д=8  о5ук8,  т8е  оGеку644т  д4  8<  Eе  о6о7<о68  пD8Eт4п  до  5478  =4 
8=теD4кт86=8 4=8<4F88 8 E8<ул4F88 Eо D47л8G=8 =86о4 =4 Eло6е=оEт ко8 ќе <о64т д4 78 
коD8Eт4т 6о Dедо6=4т4 =4Eт464, =о 8 74 E6ој пDоDеE8о=4ле= D476ој 8 EтDуG=о уEо6DHу64ње. 

И=теD4кт8в=8 4=8<4F88 8 E8<ул4F88 

И=теD4кт8в=8 4=8<4F88  

�=8<4F8ј4т4 пDетEт46у64 5D7 пD8к47 =4 д6од8<е=78о=4л=8 Eл8к8 6о Eек6е=F8ј4ле= 
DедоEлед,  кој  поD4д8  8=еDF8ј4  =4  687уел=4т4  пеDFепF8ј4  6о  Gо6еGкото  око  Eо7д464 
опт8Gк4 8лу78ј4 =4 д686ење. �=теD4кт86=4т4 4=8<4F8ј4 6EуH=оEт пDетEт46у64 д8=4<8G=4 
8 687уел=4 пDе7е=т4F8ј4 =4 пој468 8л8 =4Eт4=8 кој4 8< о6о7<о6у64 =4 коD8E=8F8те д4 
=45људу644т,  од=оE=о  Eлед4т  одDеде=  пDоFеE  =87  6Dе<ето  8  пDоEтоDот.  �D8то4 
коD8E=8F8те <о64т д4  упD46у644т  Eо  текот  =4  4=8<4F8ј4т4,  =о  =е <о64т д4  6л8ј44т  =4 
поGет=ото  поEт46у64ње  =4  о5јект8те  =4  4=8<4F8ј4т4,  =8ту  =4  8EEодот  =4  687уел=4т4 
пDе7е=т4F8ј4, од=оE=о ко=еG=ото поEт46у64ње =4 о5јект8те =4 4=8<4F8ј4т4.  
 

�D8<еD 74 8=теD4кт8в=4 4=8<4F8ј4: 

 

 
 
 
 
 
 
 
 
 

%ЛИК� 1. �8до68 47л8 

�4 !л8к4 1 пD8к464=4 е 4=8<4F8ј4 74 кл4E8D8к4F8ј4 =4 47л8. 'Gе=8кот <о6е д4 пD468 
875оD од <е=8то =4 деE=4т4 EтD4=4 8758D4јќ8 еде= од Eлед=86е 68до68 47л8: =4кDE=8 
47л8,  Eо7л4E=8  47л8  8  =487<е=8G=8  47л8.  �о  =4пD46е=8от  875оD,  6о  дол=8от  дел  =4 
екD4=от Eе пој46у644т Eоод6ет=8те п4Dо68 47л8 8 46то<4тEк8 Eе покDе=у64 4=8<4F8ј4 
кој4  687уел=о  (пDеку о5оју64ње Eо 8Eт4 5ој4)  78 пD8к46у64  т8е п4Dо68.  'Gе=8кот 6о 
58ло кое 6Dе<е <о6е д4 ј4 пDек8=е 4=8<4F8ј4т4 Eо кл8к=у64ње 6D7 копGето �!топ� 8л8 
д4 =4пD468 =о6 875оD. 'Gе=8кот <о6е д4 упD46у64 Eо текот =4 4=8<4F8ј4т4, =о =е <о6е 
д4 ј4 <е=у64 4=8<4F8ј4т4 8л8 =4 дDу7 =4G8= д4 6л8ј4е =4 =е4.  
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И=теD4кт8в=8 E8<ул4F88 

�=теD4кт86=4т4 E8<ул4F8ј4 пDетEт46у64 д8=4<8Gк4 8 687уел=4 пDе7е=т4F8ј4 =4 
пој468те, =о 74 D47л8к4 од 8=теD4кт86=4т4 4=8<4F8ј4, 8< о6о7<о6у64 =4 коD8E=8F8те д4 
уGеEт6у644т 6о E8<ул4F8ј4т4 =4 68Eт8=Eк8 8л8 87<8Eле= =4Eт4=, пD8 Hто =86=ото уGеEт6о 
8<4  6л8ј4=8е  =4  8EEодот  =4  E8<ул8D4=8от  =4Eт4=.  КоD8E=8F8те,  6о  D4<к8те  =4 
поEт46е=8те о7D4=8Gу64њ4, E4<оEтој=о одDеду644т 6ле7=8 под4тоF8: поGет=8 уEло68 8л8 
окол=оEт8  6о  =екое  д8=4<8Gко  EFе=4D8о  ко8  пDодуF8D44т  87ле7  Hто  Eе  <е=у64  6о 
7468E=оEт  од  6ле7=8те  под4тоF8.  �о  по74д8=4  поEто8  пDо7D4<4  кој4  Dу=кF8о=8D4  6о 
Eо7л4E=оEт Eо пD468л4т4 ко8 E8<ул8D44т 68Eт8=Eк4 пој464. 'Gе=8кот <о6е д4 ј4 коD8Eт8 
E8<ул4F8ј4т4  74  д4  упD46у64  Eо  одDеде=  =4Eт4=  пDеку  <е=у64ње  =4  6Dед=оEт8те  =4 
D47л8G=8  п4D4<етD8  (D4ктоD8)  8  д4  78  =45људу64  Dе7улт4т8те.  �4  т4ко6  =4G8=  <о6е 
полеE=о д4 7о D475еDе 6л8ј4=8ето =4 Eекој од п4D4<етD8те 6D7 E8<ул4F8ј4т4. !8<ул4F88те 
Eе леE=о пD8л47одл868 8 8< о6о7<о6у644т =4 уGе=8F8те д4 D45от4т =4 74д4G8 8л8 пDоект8 
ко8  8=4ку  58  58ле  D878Gк8  8л8  ло78Eт8Gк8  =е6о7<о6=8,  =епD8Eт4п=8,  =епD4кт8G=8, 
оп4E=8 8л8 пDе<=о7у Eк4п8. !8<ул4F88те Eе пое6т8=8, по5е75ед=8 8 попD8Eт4п=8 отколку 
Dе4л=8те о5јект8 6о <=о7у о5D47о6=8 E8ту4F88 8 пD8то4 Eе 875е7=у64 87ло6у64њето =4 
уGе=8F8те =4 D878к.  
 

�D8<еD 74 8=теD4кт8в=4 E8<ул4F8ј4: 
�4 !л8к4 2 е пD8к464= пD68от дел од E8<ул4F8ј4т4, од=оE=о пDет6оD4њето од 

4=4ло7=о  6о  д87874л=о  6Dе<е.  !о  кл8к=у64ње  8  6леGење  =4  л8774Gот  под  G4Eо6=8кот, 
уGе=8кот <о6е д4 875еDе 4=4ло7=о 6Dе<е по 6ел54. �ото4  Eо по<оH =4 копG8њ4т4 =4 
деE=4т4 EтD4=4 тој тDе54 д4 7о пD8к46е 4=4ло7=ото 6Dе<е (пD8к464=о =4 G4Eо6=8кот) 6о 
д878т4ле= DоD<4т. �ко уGе=8кот уEпее 6о то4 6о дол=8от деEе= 47ол од 4=8<4F8ј4т4, тој 
до5864 Eоод6ет=4 по6D4т=4 8=DоD<4F8ј4 (��=4ло7=ото 8 д878т4л=ото 6Dе<е Eе ед=4к68�). 

 

 
%ЛИК� 2. �Dет6оD4ње од 4=4ло7=о 6о д878т4л=о 6Dе<е 

!л8к4 3  7о  пD8к46у64  6тоD8от  дел  од  E8<ул4F8ј4т4,  од=оE=о пDет6оD4њето  од 
д878т4л=о  6о  4=4ло7=о  6Dе<е.  !о  кл8к=у64ње  6D7  копGето  ��75еD8  =о6о  д878т4л=о 
6Dе<е�, уGе=8кот Eе 7е=еD8D4 EлуG4ј=о д878т4л=о 6Dе<е. �ото4 Eо по<оH =4 копG8њ4т4 =4 
ле64т4 EтD4=4 уGе=8кот тDе54 д4 7о пD8к46е д878т4л=ото 6Dе<е 6о 4=4ло7е= DоD<4т. �ко 
уGе=8кот  уEпее  6о  то4  6о  дол=8от  деEе=  47ол  од  4=8<4F8ј4т4,  тој  до5864  Eоод6ет=4 
по6D4т=4 8=DоD<4F8ј4 (�Д878т4л=ото 8 4=4ло7=ото 6Dе<е Eе ед=4к68�). 
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%ЛИК� 3. �Dет6оD4ње од д878т4л=о 6о 4=4ло7=о 6Dе<е 

�D8к464=4т4  E8<ул4F8ј4  о6о7<о6у64  68Eок  Eтепе=  =4  8=теD4кF8ј4.  &44  <о6е  д4  Eе 
коD8Eт8  6о  пDоFеEот  =4  E4<оуGење  8  E4<отеEт8D4ње,  =о  8Eто  т4к4  8  6о  пDоFеEот  =4 
пDо6еDк4 =4 7=4ењ4т4 =4 уGе=8F8те.  
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